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Which one(s) of the following descriptions for network address translation is(are) NOT true?
Port numbers of returned packets are mapped to the IP address and port number of the local network
destination
The hosts within the local network utilize public IP addresses
Typically, the router has both a private and a public IP address
The router utilizes public IP address to communicate with the Internet

Which one(s) of the following is(are) NOT for exploiting the instruction-level parallelism in the execution of a
computer program?

Superscalar execution

Multiple threads execution

Out-of-order execution

Speculative execution

Which one(s) of the following descriptions for C++ programming language is(are) NOT true?
Polymorphism enables one common interface for many implementations
All operators can be overloaded for user-defined types
Inheritance allows one data type to acquire properties of other data types
Templates allow functions and classes to operate with generic types

What does RAG stand for in LLM techniques?
Reinforced Arguments Generation
Rectified Articles Generalization
Reinforced Adversarial Generation
Retrieval Augmented Generation

Which one(s) of the following is(are) NOT for enhancing the generation performance of LLM?
Prompt engineering
RAG
Fine-tuning
Code optimization

Which one(s) of the following techniques is(are) appropriate for transfer learning on pretrained deep
neural network models with small-scale datasets or limited computational resources?

Using feature extraction on the pretrained model to train new layers

Fine-tuning the pretrained model with new layers

Using the same network structure of the pretrained model to train a new network

Utilizing the prompt engineering technique

Which one(s) of the following descriptions is(are) true for reinforcement learning?
Assisting your colleagues in digital learning
Providing incentives for well-performed students in e-learning
Q-learning is a kind of reinforcement learning
An online learning technique for teaching activities
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8. Which one(s) of the following descriptions is(are) NOT true for the support vector machine?
A. A linear-separator based approach

B. Maximizing the margin between two classes of data

C. Aninherently nonlinear classification technique

D. Utilizing kernel functions to implicitly map data

9. Which one(s) of the following devices is(are) for relaying IP packets in Internet?
A. Access point

B. Switch

C. Router

D. Modem

10. Which one(s) of the following descriptions is(are) NOT correct for the public key cryptosystem?
A. Usually stronger in security than the pre-shared key encryptions with the same key length

B. The encryption is asymmetric

C. Can be utilized for digital signature

D. A fundamental component of the Transport Layer Security

11. Which one(s) of the following protocols is(are) NOT for virtual private network?

A. L2TP

B. 1IPSec

C. PPTP

D. PPPoE

12. Ethemet relies on to decide which host a frame should be received.
A. MAC address

B. SSID

C. IPaddress

D. Port number

13. Which one(s) of the following descriptions is(are) true for the top-level domain?
A. Country code top-level domains are two letters long

B. “.tv’domain is derived from the word television

C. Not all two-letter top-level domains are country code top-level domains

D. ‘.com’domain is derived from the word company

Fill-in-the-blank (20%, 5% for each blank)
1. Suppose the expression X[0, 0] referred to the first-row, first-column entry in a two-dimensional

array with 5 rows and 7 columns. If the array is stored in column-major order beginning at
memory address x and each entry in the array requires » memory cells, the address polynomial
used to compute the address of the beginning of the entry X[I, J] is

2. Inthe method for synchronizing the operation of the CPU with an I/O device, the I/O
device informs the CPU when it is ready for data transfer.

3. In an operating system, is responsible for removing entries from the process table.
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4. The combination of sign and mantissa of a real number in IEEE standard floating point format is
stored as an integer in the representation.

Open-Ended Questions
5. Explain the difference between a process that is waiting as opposed to a process that is ready.

(8%)

6. Write the recursive function for printing every leaf node of a binary tree given its pre-order
traversal in C programming language. (20%)
For instance, given the binary tree below:

793

/ \

279 922

/ \

137 547

The input to the recursive function should be [793, 279, 137, 547, 922], and the output should be
137, 547, 922.
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